199" Eigenvector

1
Ne = 5 S = 5 ms — 5
Irred. Representation : I'y 4

1
Erg9 = g(—J—3t+5U+50W+(cos(¢95)+\/§sm(95)) V/A)

11
‘\:[1199> - ‘57§7§7F471>

= Cloo1 (|022u) + [02u2) + |202u) + |20u2) — |2u02) — |2u20) — |u202) — [u220))

+ 019972 (|0’LL22> - |220u> — |22’LLO> + |u022>)
+  Cio93 (|2udu) — [2uud) — |du2u) — |duu2) + |u2du) — |u2ud) + |ud2u) + |udu2))
Croo1 = %
t (U —2W — (cos (05) + /3 sin (95)) \/A_G)
+ 22
Crg9—2 = H=J —g\l/;t —U)
E(=U +2W + (cos (65) + V3sin (65) ) VAs)
+ 32
15t — (11U + 98W)t + 8U(U + 21W) + J(t — 4(U + 8W))
Cigo—3 = V2
— A3, + 24W (21U + 104W) — 3(t — 4(U + 8W)) (cos (65) + V/3sin (65)) vAg
18v2

Nigg = 2\/201299,1 + Cfg9.2 + 2099 3



